The group G is isomorphic to the group labelled by [ 1080, 260 ] in the Small Groups library.
Ordinary character table of G = C3 . A6:

la 2a 3a 3b 3c 3d 4da 5a 50 6a 6b 12a 120 15a 150 15¢ 15d

x1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

x2 | 3 -1 3%xE(3)2 3% F(3) 0 0 1 —E(B)2-EGBI3 —EbB)—E(B) 4 —-E(3 —E(3)" 2 E3)2 E(3) —E(15)"2—-E(15) 8 —E(15) — E(15)° 4 —E(15)" 11— E(157 14 —E(15)7— E(15)"13

X3 | 3 -1 3%EB) 3+«EGBC2 0 0 1 —-EB6/2-EG/3 -EG) -EGY4 —E@B12 —E(@3) E(3)  E@BY2 -—BEQ15)7T-—E(15713 —E(5, 11— E(150 14 —E(15) — E(157°4  —E(15°2 — E(15)8

X+ | 3 -1 3xE@B3Y2 3xE@) 0 0 1 —E(B)—EGr4 -EG 2-E(B3 -E@3 —E@B3Y2 EBY2  E(B) —E(15 0 11-E(15714 —E(1577— E(15013  —EB(15)° 2 — E(15)8 —E(15) — BE(15) 4

xs | 3 -1 3% FE(3) 3xE3y2 0 0 1 —E(B)—E(B)4 —-EGB)2—E(B)3 —-E3)2 —E(3) E(3) E(3)2 —E(15) — E(15)° 4 —E(15)"2— E(15)" 8 —E(15) 7—E(15)°13 —E(15) 11 — E(15)" 14

x¢ | B 1 5 5 -1 2 -1 0 0 1 1 -1 -1 0 0 0 0

x7 | 5 1 5 5 2 -1 -1 0 0 1 1 -1 -1 0 0 0 0

xs | 6 2 6xE(3)2 6 x E(3) 0O 0 0 1 1 2xE(3) 2xE3) 2 0 0 E(3) E(3) 2 E(3) E33) 2

X9 | 6 2 6 x E(3) 6xFE3)2 0 0 0 1 1 2xE(3)2 2xE(3) 0 0 E3) 2 E(3) E3) 2 E(3)

Xwo| 8 0 8 8 -1 -1 0 -—-EGBy2-E(B)3 —EB)—E(B) 4 0 0 0 0 —E(5)—E(5) 4 —E(B)2—E(B) 3 —E()2—E(5) 3 —E()—E(B) 4

xi1| 8 0 8 8 -1 -1 0 —E(5) — E(5)A4 —E(B)2—E(B) 3 0 0 0 0 —E(B) 2—E(B) 3 —E()—E(B) 4 —E(5)—E(5) 4 —E(B)2—E(B) 3

xi2 | 9 1 9 9 0 0 1 -1 -1 1 1 1 1 -1 -1 -1 -1

xi3|9 1 9%xE(3)2 9% F(3) 0 O 1 -1 -1 E(3) E3) 2 E3) 2 E(3) —E(3) —E(3)" 2 —E(3 —E(3)" 2

Xiu| 9 1 9xE®3)  9xEBC2 0 0 1 -1 -1 B3 2 E(3) E(3)  E@3)2 —E(3)2 —E(3) —E(3) 2 ~E(3)

xi5 | 10 =2 10 10 1 1 0 0 0 -2 -2 0 0 0 0 0 0

X6 | 156 —1 15« E(3)"2 15 FE(3) o 0 -1 0 0 —E(3) —-E@3)2 —-E@By2 -—E3) 0 0 0 0

xi7 |15 -1 15%xE(3) 15xE3)2 0 0 -1 0 0 —E(3)" 2 —E(3) —-E(3) —-E3)2 0 0 0 0
Trivial source character table of G =2 C3 . A6 at p = 2
Normalisers N; Ny Ny N3 Ny Ny
p — subgroups of G up to conjugacy in G Py P, Py P, Py
Representatives n; € N; la 3a 3b 3c  3d 5a 5b 15a 15b 15¢ 15d la 3b 3a la 3b 3a 3d 3d 3d | la 3a 3b 3c 3c 3c la 3b 3a la
1-x14+0-x24+0-x3+0-x4+0-x5+1-x6+1-x7+0-xs+0-x0+0-x10+0-x11+1-x124+0-x13+0-x14+2-x15+0-x16+0"x17 | 40 40 40 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 010 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x34+1-xa4+0-x54+0-x6+0-x7+1-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+1-x16+0-x17 |24 24xE(3)2 24xFE(3) 0 0 —2xE(B)—E(B)2-—EGB3-2xE(B4 —EGB)—2xE((B) Q—Q*E( ) 3—E(B)y 4 —E(15)2—-E(15)78—2xFE(15)" 11 —2x E(15)" 14 —FE(15) — E(154—-2xE(15) 7—2x E(15)" 13 —2x FE(15)"2 -2« E(15)" 8 — E(15)" 11 — E(15)" 14 —2x FE(15) —2x E(15) 4 — E(15)77— E(15)" 13 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O0-x1+0-x2+1-x34+0-x4a+0-x5+0-x6+0-x74+0-xs+1-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+1-x17]24 24+«xFEB3) 24«xEB3)2 0 0 —-EGB)—2xE()2-2xE(5)3-—E(b)4 —-2xE(5)—E(bB)2-E(B)3—-2xE(5)4 —E(15) — E(15)74—2x E(15) 7 —2x E(15)" 13 —E(15)2—E(15)7 8 — 2% E(15)" 11 — 2« E(15)" 14 —2x E(15) —2x E(15)"4— E(15)" 7 — E(15)" 13 —2xE(15)72—-2xE(15)"8— E(15)" 11— E(15)°14 | 0 0 0 0 0 0 0 0 010 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+1-x54+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17| 24 24 x E(3) 24xE(3)2 0 0 —2xEGB)—E(B)2-—E(bB)3-2+xE(b)4 —E(B)—2xE((5B) Q*Q*E( ) 3—FE(5) 4 —2x E(15) —2x E(15)" 4 — E(15)" 7 — E(15)" 13 —2x E(15)"2—2x E(15)" 8 — E(15)" 11 — E(15)" 14 —E(15) — E(1574—2x E(15) 7—2x E(15)" 13 —E(15)2—E(15)78—2xE(15)"11 -2« E(15)°14 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x1+1-x24+0-x3+0-xa4+0-x5+0-x6+0-x7+1-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+1-x16+0-x17 |24 24+ E(3)2 24xE(3) 0 0 —EGB)—-2«E()2-2«xE(5)3-FE(b)4 —2+«E(5)—EG)2-E(B)3-2«xE(5)4 —-2xE(1572—-2%E(15)8— E(15)" 11— E(15)" 14 —2x E(15) —2x E(15)" 4 — E(15) 7— E(15)" 13 —E(15)2—-E(157 8 -2 E(15)" 11 — 2« E(15)" 14 —E(15) — E(15)4—2x E(15)" 7 —2x E(15)" 13 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x5+1-x64+0-x7+0-xs+0-x90+0-x10+0-x11+1-x12+0-x13+0-x14a+1-x15+0-x16+0-x17| 24 24 24 0 3 -1 —1 —1 -1 -1 -1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-x4a+0-x5+0-x6+1-x74+0-xs+0-x90+0-x10+0-x11+1-x12+0-x13+0-x14a+1-x15+0-x16+0-x17 | 24 24 24 3 0 -1 -1 -1 -1 -1 -1 0 0 0 0 0 0 0 0 0] 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x90+0-x10+1-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17] 8 8 8 -1 -1 —E() - E(B) 4 —E(5)"2—-E((B) 3 —E(B) 2-E(B) —E(5)— E(5) 4 —E(B)—E(B) 4 —E(By2-E(B)3 0 0 0 0 0 0 0 0 010 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-x3+0-x0+1-x10+0-x114+0-x12+0-x134+0-x14+0-x15+0-x16 +0-x17 | 8 8 8 -1 -1 —E()2—-E(5) 3 —E(5) — E(5)A4 —E(5) — (5)/\4 —E(By2-E(5)3 —E(B)2-E(B)3 —E(5) — E(5) 4 0 0 0 0 0 0 0 0 0] 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-Xx10+0-x11+0-x12+0-x13+1-Xx14+0-x15+0-x16 +1-x17 |24 24xE@3) 24xEB)2 0 0 -1 -1 —E(3)2 —E(3) —E@3) 2 —E(3) 0 0 0 0 0 0 0 0 010 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+1-x13+0-x14a+0-x15+1-x16+0-x17| 24 24xE3) 2 24xE(3) 0 0 -1 -1 -E(3) —E(3)2 -E(3) —E(3)"2 0 0 0 0 0 0 0 0 010 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+0-xs+1-x6+1-x74+0-x8+0-x90+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x17 | 20 20 20 2 2 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0] 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+2-x0+0-x10+0-x11+0-x12+0-x13+1-x14+0-x15+0-x16+1-x17| 36 36*E(3) 36xE(3)72 0 0 1 1 E(3) 2 E(3) E(3)" 2 E(3) 4 4xE(3)2 4xE(3) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+2-x8+0-x9+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+1-x16+0-x17 |36 36xE(3)2 36x*FE(3) 0 0 1 1 E(3) E(3)2 E(3) E(3)2 4 4x FE(3) 4xFE3) 2] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x24+0-x3+0-xa+0-x5+1-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17| 6 6 6 0 3 1 1 1 1 1 1 2 2 2 2 2 2 2 2 210 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x12+1-x13+0-x14a+0-x15+1-x16+0-x17| 30 30+xE(3)"2 30xE(3) 0 0 0 0 0 0 0 0 2 2« FE(3) 2«E3) 2| 2 2+ FE(3) 2xE(3) 2 Q*E() 2 2% E(3) 210 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+0-x11+0-x12+0-x13+1-x14+0-x15+0-x16+1-x17|30 30«xEB) 30«xE3)2 0 0 0 0 0 0 0 0 2 2xE(3)2 2xE(3) 2 2xE@3)2 2xE(3) «E(3) 2xE@B3y2 2|0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x74+0-xs+0-x0+0-x10+0-x11+1-x12+0-x13+0-x14a+0-x15+0-x16+0-x17 | 14 14 14 2 —1 -1 -1 -1 -1 -1 -1 2 2 2 2 2 2 -1 -1 -11]0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+1-x9+0-x10+0-x114+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 6 6 * F(3) 6x«E(3)72 0 0 1 1 E(3) 2 E(3) E(3) 2 E(3) 2 2xE3)2 2xE(3) 2 2xE(3)2 2xE3) —FE(3) —E@3y72 -1|0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17| 6 6*xE(3) 2 6 x E(3) 0 0 1 1 E(3) E3) 2 E(3) E3) 2 2 2xE(3) 2xE3) 2| 2 2xE(3) 2xE@3)y2 —FE3)2 —FE(3) -11]0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+0-x6+1-x7+0-x8+0-x9+0-Xx10+0-x114+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 6 6 6 3 0 1 1 1 1 1 1 2 2 2 0 0 0 0 0 0| 2 2 2 2 2 2 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x6+0-x7+0-xs+1-xX0+0-x10+0-x11+0-x12+0-x13+1-x14+0-x15+0-x16+1-x17]| 30 30 E(3) 30xE(3)2 0 0 0 0 0 0 0 0 2 2xE(3)2 2% F(3) 0 0 0 0 0 0 2 2% F(3) 2% FE(3)2 2 2xE(3)2 2% FE(3) 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+1-xs+0-x0+0-Xx10+0-x11+0-x12+1-x13+0-Xx14a+0-x15+1-x16+0-x17 |30 30xE(3)"2 30xE(3) 0 0 0 0 0 0 0 0 2 2xEB) 2xEBY2|0 0 0 0 0 0|2 2xEB)2 2xE(3) 2 2xFE(3) 2%xE@3)2|0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+1-x6+0-x7+0-x8+0-x0+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16 +0-x17 | 14 14 14 -1 2 -1 -1 -1 -1 -1 -1 2 2 2 0 0 0 0 0 0] 2 2 2 -1 -1 -1 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+1-x8+0-x0+0-Xx10+0-x11+0-x12+0-x134+0-Xx14+0-Xx15+0-x16+0-x17| 6 6xE(3) 2 E(3) 0 0 1 1 E(3) E3) 2 E(3) E(3)2 2 2« FE(3) 2xFE3)2|0 0 0 0 0 0|2 2«EB3)2 2«xE@3) -1 —E(3) —E@3)2 |0 0 0 0 0 0
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+1-x90+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17| 6 6+ E(3) G*E(?)) 2 0 O 1 1 E@3) 2 E(3) E(3)" 2 E(3) 2 2xE(3)2 2xE(3) 0 0 0 0 0 0] 2 2% FE(3) 2xE@3)2 -1 -—-E@3)2 —E(3) 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-x4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+1-x124+0-x13+0-x14+0-x15+0-x16+0-x17| 10 10 10 1 1 0 0 0 0 0 0 2 2 2 0 0 0 0 0 010 0 0 0 0 0 2 2 2 0 0 0
0-x1+0-x2+1-x34+0-xa+1-x54+0-x6+0-x7+0-x8+2-x0+0-x10+0-x11+0-x12+0-x13+1-x14a+0-x15+0-x16+1-x17 |42 42xEB3) 42xEB3)2 0 0 2 2 2% FE(3)" 2 2% F(3) 2x FE(3)" 2 2% E(3) 2 2xE(3)2 2xE(3) 0 0 0 0 0 010 0 0 0 0 0 2 2xE@3)2 2xE(3) 0 0 0
O-x1+1-x24+0-x34+1-xa+0-x5+0-x6+0-x74+2-xs+0-x0+0-x10+0-x11+0-x12+1-x135+0-x14a+0-x15+1-x16+0-x17 |42 42xE(3)2 42x E(3) 0 0 2 2 2% FE(3) 2% FE(3) 2 2% FE(3) 2% FE(3)" 2 2 2« FE(3) 2xE3)2|0 0 0 0 0 010 0 0 0 0 0 2 2xFE(3) 2«E3)2|0 0 0
1-x14+0-x2+0-x3+0-x44+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1|1 1 1 1 1 1 1 1 1 1 1 1
0-x1+0-x2+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+1-x13+0-x14a+0-x15+0-x16+0-x17| 9 9*xE(3) 2 9x F(3) 0 0 -1 -1 E(3) —E(3) 2 E(3) —E(3) 2 1 E(3) E3) 2 1 E(3) E(3)" 2 E3) 2 E(3) 1|1 E(3)2 E(3) 1 E(3 E(3) 2 1 E(3) E(3) 2 1 E( E3) 2
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+1-Xx14+0-x15+0-x16+0-x17| 9 9+ E(3) 9« FE(3y2 0 0 -1 -1 E(3) 2 —E(3) E(3) 2 —E(3) 1 E(3) 2 E(3) 1 E(3) 2 E(3) E(3) E(3) 2 1|1 E(3) E(3)2 1 E(3) 2 E(3) 1 E(3)2 E(3) 1 E@B)2 E@3)

Group([()]) =2 1

P, = Group([(4,7)(6,10)(11,17)(12,13)(14, 18)(15, 16)]) = C2
P; = Group([(4,15)(6,11)(7,16)(10,17)(12,18)(13,14), (4,7)(6,10)(11,17)(12,13)(14, 18)(15,16)]) = C2 x C2
P, = Group([(4,7)(6,10)(11,17)(12,13)(14, 18)(15, 16), (1, 2)(3,8)(5,9)(11,17)(14, 18)(15,16)]) = C2 x C2
Ps = Group([(4,7)(6,10)(11,17)(12,13)(14, 18)(15, 16), (1, 2)(3, 8)(4, 15,7,16)(5,9)(6,11,10,17)(12, 18,13,14)]) = C4
Py = Group([(4,15)(6, 11)(7, 16)(10, 17)(12, 18)(13, 14). (1. 2)(3,8)(5, 9)(11, 17)(14, 18)(15, 16), (1, 2)(3, 8)(4, 7)(5,9)(6, 10)(12, 13)]) = D8
Ny = Group([(1,2,7,4)(3,8,6,10)(5,9,13,12)(11,15)(14,17)(16, 18),(2,6)(4, 11)(7,9)(8,13)(10, 14)(12,16)]) = C3 . A6
Ny = Group([(4,7)(6,10)(11,17)(12,13)(14, 18)(15, 16), (1,5, 3)(2,9,8)(4,12,10)(6, 7, 13)(11, 16,14)(15,18,17), (1, 3,5)(2,8,9)(4, 11,12, 16, 10, 14)(6, 18, 7,17,13,15), (1, 2)(3, 8)(5,9)(11,17) (14, 18)(15,16)]) = C3 x D8
N3 = Group([(4,15)(6,11)(7,16)(10,17)(12,18)(13,14), (4,7)(6,10)(11,17)(12,13)(14, 18)(15, 16), (1,5, 3)(2, 9, 8)(4, 12, 10) (6, 7, 13)( ,16,14)(15,18,17),(1,8)(2,5)(3,9)(6,17)(7,15)(13,18),(1,2)(3,8)(5,9)(11,17)(14, 18)(15,16)]) = C3 x S4
N = Group([(1,4)(2,7)(3,10)(5, 12)(6,8)(9, 13), (4, 7)(6, 10)(11, 17)(12, 13)(14, 18)(15, 16), (4, 16)(6, 17)(7, 15)(10, 11)(12, 14)(13, 18), (1, 2)(3, 8)(5, 9)(11, 17)(14, 18)(15, 16), (1, 5, 3)(2, 9, 8) (4, 18, 10, 15,12, 17)(6, 16,13, 11,7, 14)]) = C3 x S4
N5 = Group([(4,7)(6,10)(11,17)(12,13)(14, 18)(15, 16), (1,5, 3)(2,9,8)(4,12,10)(6, 7,13)(11, 16, 14)(15, 18,17), (1, 2)(3,8) (4, 15,7, 16)(5,9)(6, 11,10, 17)(12, 18,13, 14), (1, 2)(3, 8)(5, )(11 17)(14 18)(15 16)]) = C3 x D8
Ng = Group([(4,15)(6,11)(7,16)(10,17)(12,18)(13,14), (1,5,3)(2,9,8)(4, 12,10)(6,7,13)(11, 16, 14)(15,18,17), (1, 2)(3, 8)(5, )(11 17)(14,18)(1 5,16),( ,2)(3,8)(4,7)(5,9)(6,10)(12,13)]) = C3 x D8



